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Quiz Date: 12th May 2020 

Directions (1-15): In each of the questions given below four words are given in bold. These four 
words may or may not be in their correct position. The sentence is then followed by options with 
the correct combination of words that should replace each other in order to make the sentence 
grammatically and contextually correct. Find the correct combination of the words that will 
replace each other. If the sentence is correct as it is then select option (e) as your choice. 
 
Q1. Economics is probably one notable(1) exception, where models and techniques proven (2) 
higher mathematics have employing (3) to be highly fruitful(4). 
(a) 2-3 
(b) 1-4 
(c) 2-4 
(d) 1-3 
(e) None of these 
 
Q2. Matter and energy tell move (1) how to curve and that curved (2) space lays out the path (3) 
upon which matter and energy space (4).  
 (a) 2-3 
(b) 1-4 
(c) 2-4 
(d) 1-3 
(e) None of these 
 
Q3. By the end of the 19th hopeful (1), keeping the mountains politically(2) quiet and socially 
peaceful(3) was both a desirable aim and a century (4) description.  
(a) 2-3 
(b) 1-4 
(c) 2-4 
(d) 1-3 
(e) None of these 
 
Q4. Because bottom (1) are reopening or partially (2) opening in the U.S., the likely economies (3) 
of the Pandemic Recession will be this quarter (4).  
(a) 2-3 
(b) 1-4 
(c) 2-4 
(d) 1-3 
(e) None of these 
 
Q5. In India, the massive(1) expansion of the national unprecedented (2) allows for 
commodification(3) of mountain in ways that are economy (4).  
(a) 2-3 
(b) 1-4 
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(c) 2-4 
(d) 1-3 
(e) None of these 
 
Q6. Policy changes (1) that result in immigration (2) of international trade or reductions (3) could 
also be catalysts (4) for stagflation. 
(a) 2-3 
(b) 1-4 
(c) 2-4 
(d) 1-3 
(e) None of these 
 
Q7. Pledges (1) of carbon dioxide continue (2) to rise, and current country concentrations (3) 
would not stem this increase (4) even by 2030.  
(a) 2-3 
(b) 1-4 
(c) 2-4 
(d) 1-3 
(e) None of these 
 

 
 

 
 
Q8. When we look out (1) at the Universe, particularly on large cosmic indistinguishable (2), it 
behaves as though space (3) were virtually scales (4) from flat. 
(a) 2-3 
(b) 1-4 
(c) 2-4 
(d) 1-3 
(e) None of these 
 
Q9. Not all areas of sciences (1) are able to construct mathematical (2) or models that have the 
level of theories (3) rigor that theories of physics (4) enjoy.  
(a) 2-3 
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(b) 1-4 
(c) 2-4 
(d) 1-3 
(e) None of these 
 
Q10. The tools of macro (1) policy can ability (2) the business cycle, but their address (3) to 
address the overall (4) problem is limited. 
(a) 1-2 
(b) 2-3 
(c) 2-4 
(d) 1-3 
(e) None of these 
 
Q11. Mr. Trump has publicly positions (1) his outgoing NSA, and may reverse (2) many of the 
criticized (3) the U.S. had taken with Mr. Bolton at the helm (4). 
(a) 1-4 
(b) 2-3 
(c) 3-1 
(d) 2-4 
(e) None of these  
 
Q12. Policymakers (1) in India were in a terrible (2) bind in 2001 owing to fiscal (3) stress and in 
2010 owing to inflation (4). 
(a) 1-4 
(b) 2-3 
(c) 3-4 
(d) Both (a) & (c) 
(e) None of these 
 
Q13. A root-cause analysis (1) of the investment (2) in trend growth from 2011 onwards (3) will 
take us to the decline in private decline (4). 
(a) 1-2 
(b) 2-3 
(c) 2-4 
(d) 1-3 
(e) None of these 
 
Q14. The useful path lies in discretionary (1) the situation to push for the required (2) long-term 
structural (3) reforms in tax policy and tax administration, instead of thinking in terms of 
harnessing (4) fiscal policy. 
(a) 1-4 
(b) 2-3 
(c) 3-4 
(d) Both (a) & (c) 
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(e) None of these 
 
Q15. Indian markets fell spreading (1) today, tracking global peers lower, as fears about the 
economic impact (2) of China's sharply (3) virus outbreak curbed risk appetite (4). 
(a) 1-2 
(b) 2-3 
(c) 2-4 
(d) 1-3 
(e) None of these 
 

 

 
 

 
Solutions  

S1. Ans. (a) 
Sol. Here, 2-3 i.e., ‘proven-employing’ is the correct combination of words which will replace 
each other to make the sentence grammatically and contextually correct. The sentence thus 
formed is, 
‘Economics is probably one notable exception, where models and techniques employing higher 
mathematics have proven to be highly fruitful. 
 
S2. Ans. (b) 
Sol. Here, 1-4 i.e., ‘move-space’ is the correct combination of words which will replace each 
other to make the sentence grammatically and contextually correct. The sentence thus formed 
is, 
Matter and energy tell space how to curve and that curved space lays out the path upon which 
matter and energy move.  
 
S3. Ans. (b) 
Sol. Here, 1-4 i.e., ‘hopeful-century’ is the correct combination of words which will replace each 
other to make the sentence grammatically and contextually correct. The sentence thus formed 
is, 
‘By the end of the 19th century, keeping the mountains politically quiet and socially peaceful was 
both a desirable aim and a hopeful description.’  
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S4. Ans. (d) 
Sol. Here, 1-3 i.e., ‘bottom-economies’ is the correct combination of words which will replace 
each other to make the sentence grammatically and contextually correct. The sentence thus 
formed is, 
Because economies are reopening or partially opening in the U.S., the likely bottom of the 
Pandemic Recession will be this quarter.  
 
S5. Ans. (c) 
Sol. Here, 2-4 i.e., ‘unprecedented-economy’ is the correct combination of words which will 
replace each other to make the sentence grammatically and contextually correct. The sentence 
thus formed is, 
‘In India, the massive expansion of the national economy allows for commodification of 
mountain in ways that are unprecedented.’ 
 
S6. Ans. (a) 
Sol. Here, 2-3 i.e., ‘immigration-reductions’ is the correct combination of words which will 
replace each other to make the sentence grammatically and contextually correct. The sentence 
thus formed is, 
Policy changes that result in reductions of international trade or immigration could also be 
catalysts for stagflation. 
 
S7. Ans. (d) 
Sol. Here, 1-3 i.e., ‘pledges-concentrations’ is the correct combination of words which will 
replace each other to make the sentence grammatically and contextually correct. The sentence 
thus formed is, 
‘Concentrations of carbon dioxide continue to rise, and current country pledges would not stem 
this increase even by 2030.’  
 
S8. Ans. (c) 
Sol. Here, 2-4 i.e., ‘indistinguishable-scales’ is the correct combination of words which will 
replace each other to make the sentence grammatically and contextually correct. The sentence 
thus formed is, 
When we look out at the Universe, particularly on large cosmic scales, it behaves as though 
space were virtually indistinguishable from flat. 
 
S9. Ans. (a) 
Sol. Here, 2-3 i.e., ‘mathematical-theories’ is the correct combination of words which will replace 
each other to make the sentence grammatically and contextually correct. The sentence thus 
formed is, 
‘Not all areas of sciences are able to construct theories or models that have the level of 
mathematical rigor that theories of physics enjoy.’  
 
S10. Ans. (b) 
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Sol. Here, 2-3 i.e, ‘address’ will be replaced by ‘ability’ to make the sentence grammatically and 
contextually correct. The sentence thus formed is,  
“The tools of macro policy can address the business cycle, but their ability to address the overall 
problem is limited”. 
 
 
S11. Ans. (c)  
Sol. The correct answer choice is option (c). 3-1 i.e., ‘positions-criticized’ is the combination of 
words that will replace each other in order to make the sentence grammatically and contextually 
correct. 
 
S12. Ans. (e) 
Sol. Here, the sentence is absolutely correct. No any interchange is required. 
The sentence remains the same as “Policymakers in India were in a terrible bind in 2001 owing to 
fiscal stress and in 2010 owing to inflation”. 
 
S13. Ans. (c) 
Sol. Here, 2-4 i.e., ‘decline’ will be replaced by ‘investment’ to make the sentence grammatically 
and contextually correct. The sentence thus formed is,  
“A root-cause analysis of the decline in trend growth from 2011 onwards will take us to the 
decline in private investment”. 
 
S14. Ans. (a) 
Sol. Here, 1-4 i.e., ‘harnessing’ will be replaced by ‘discretionary’ to make the sentence 
grammatically and contextually correct. The sentence thus formed is,  
“The useful path lies in harnessing the situation to push for the required long-term structural 
reforms in tax policy and tax administration, instead of thinking in terms of discretionary fiscal 
policy”. 
 
S15. Ans. (d) 
Sol. Here, 1-3 i.e., ‘sharply’ will be replaced by ‘spreading’ to make the sentence grammatically 
and contextually correct. The sentence thus formed is,  
“Indian markets fell sharply today, tracking global peers lower, as fears about the economic 
impact of China's spreading virus outbreak curbed risk appetite”. 
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